

Inverse relationship Add/Sub



Tutors4Berkshire

Since $1 + 3 = 4$

Then $4 - 1 = \square$

Since $3 + 5 = 8$

Then $8 - 3 = \square$

Since $7 + 7 = 14$

Then $14 - 7 = \square$

Since $9 + 2 = 11$

Then $11 - 9 = \square$

Since $2 + 3 = 5$

Then $5 - 2 = \square$

Since $4 + 9 = 13$

Then $13 - 4 = \square$

Since $5 + 4 = 9$

Then $9 - 5 = \square$

Since $9 + 5 = 14$

Then $14 - 9 = \square$

Since $7 + 4 = 11$

Then $11 - 4 = \square$

Since $8 + 8 = 16$

Then $16 - 8 = \square$

Since $4 + 8 = 12$

Then $12 - 4 = \square$

Since $3 + 9 = 12$

Then $12 - 3 = \square$

Since $5 + 2 = 7$

Then $7 - 5 = \square$

Since $2 + 2 = 4$

Then $4 - 2 = \square$

Since $4 + 4 = 8$

Then $8 - 4 = \square$

Since $7 + 8 = 15$

Then $15 - 7 = \square$